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Answer any three.

Q.1

between them.

What do you mean by Micro Economics and Micro Economics? Clarify the difference

(14)

Q.2 What do you mean by Equilibrium? Explain in detail Partial and General equilibrium. (14)

s ini
Q.3

}.3 Explain Marshallian Cardinal Utility Analysis with the help of a diagram.

Q.4 Discuss Lancaster’s approach to demand theory: Attribute Theory of Demand.
3.5 Explain Slustusky’s substitution effect with the help of a diagram.

0.6 What do you mean by Elasticity? Explain various types and measurement of Price

Elasticity of demand.

Q.7 Discuss various conditions of Pareto Optimality.
(.8 Explain Kaldor-Hicks Compensation Principle with the help of a diagram.

Q.9
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Choose the right option and write a, b, ¢ or d only. (8

Which of the following is the fact on which Robbins definition is based?

a. Unlimited wants

b.  Scarce resources

¢, Alternative uses of means
d.  All of the above

Which of the following is not the content of Microeconomics?
Product pricing
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1C i1s downward

it to right since more of x & less of y gives

i sloping from |
a. Less satisfaction

b. More satisfaction

¢. Equal satisfaction

Fol

! .
d. Maximum satistaction

he following assumption is not true for Revealed Preference
onsistency

{ransitivity

¢. Rationality

d. Weak ordering

(14)
(14)
(14)

(14)
(14
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Equal cost curves
Equal product curves
Indifference curves

¢ of indifference curve is

r“a‘iorf <
the same as of the price B
sinaller than of the price line.

x

None of these

Value Judgement must be made in order to derive the
a. Transformation curve
b, Grand Utility Possibility curve
c.  Social welfare Funciion
a.  None of these '
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